50, will be treated as malpractice.

Important Note : 1. On complc_ting your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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1 a.

b.

b.

6
b.
c.
7 a
b.

(10 Marks)
Write the Java code for MAP aggd Reduce of word count problem Describe the steps of

compiling and Removing the Map Reduce program. (10 Marks)
4 W@t‘ :
: OR
With example, explam the dxﬁerent general HDFC commands. (08 Marks)
uired for Map Reduce gar@llel data flow. (06 Marks)

How the problémwf" Name Node as a §ismgle point of failure is overcome in Hadoop
1nstallat10ns‘7 S (06 Marks)

1o Marks)
(10 Marks)

(08 Marks)
s& in busmess mtelhgence solutions? (06 Marks)
2 Explain the strateg{“c and operational decisions. (06 Marks)

Why sho ¥ orgamzatlons in
Draw the flow of BIDM cyc .

&

“Illustrate the sam '“th an example -~ 08 Marks)
Explain CRISP«-DM Data Mining, cycle (06 Marks)
Describe t};@%p cess of selecting’ a@d cleansmg of data for mining. (06 Marks)

Module-4
Explain the design prineiples of Artificial Neural Network (ANN) by constructing a model

representation for a smgle and multilayer ANN. Describe the steps to build an ANN,
(10 Marks)

Construct a decision tnee to predict the play decision given the atmospheric conditions.
(Data set — Table Q7(b))
Outlook | Temperature || Humidity Windy Play
Sunny Hot Normal True ?

1of2
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Outlook | Temperature
Sunny Hot
Sunny Hot
Overcast Hot
Rainy Mild
Rainy Cool No
Rainy Cool 4. Normal
Overcast Cool (% ‘Normal
Sunny High
Sunny Normal
Rainy Normal
Sunny Normal
Overcast |, High
Overcast, |© Normal ,
Rainy™, ngh
% (10 Marks)
A€ @
A OR
8 a. Discuss tix@h three key elements whleﬁ“‘dlfferentlate the algonthms for decision making.
% ~~~~~ (08 Marks)
b. Explaxw%e advantages and dlsadVantages of Regressmn moéels (06 Marks)
c. Explain K-Means algonthm for@lustermg a ff“j““w (06 Marks)
a4 Module-5 '~ ?ﬁ% )
9 a. Explain three types of vs?%b mining. Use app jate flow dlagram tof’i'epresent the same.
(08 Marks)

. What is Naive Bayes | techmque" Explain gts n%%odel ’ (06 Marks)

c. Discuss the apphcatlbn and practical c@n%}deratmn of social ietwork analysis. (06 Marks)
% ‘

10 a. Explam fﬁe@Text Mining proce vgan{l the Architecture. , * (10 Marks)
b. Comgglteathe rank values for %e network in the Fig" Ql 0(b). When is the highest ranked

««««««

code‘? ‘S6lve the same w1th“%8 Igeratlons

Yo ™
¢ “%ﬁ“
\
%ﬁFi.QIO(b) (10 Marks)
y m; % % k k&
C,y>
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